

Name _______________________


ALS - 6
Lecture 6:  Integers
For two integers a and b, a|b means in words __________________________________________________ .

The mathematical definition of a|b is ________________________________________.
If k|m and m|n, then ___________________________________
If the positive integers n and 1 are the only ones that divide n, then n is ____________________.

The most basic way to decide if a positive integer is prime is to __________________________________.

The factorization of a positive integer into its prime factors is _________________________ .

The Remainder Theorem says that for two integers a and b>0 we can write a = _____________________
The remainder in the Remainder Theorem must be a _____________________

The mod n operation is a different way of expressing the _____________________

a divides n and m, then a is called the _________________________________
GCD stands for ___________________________________
Two algorithms for computing the GCD of two integers are ______________ and ______________
LCM stands for ___________________________________

The most common base for the representation of integers is base _____

To show that a number is using a different base than the common base, the number is written with the base where? ___________________________________
To determine the base b expansion of an integer, use repeated ________________
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